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EXERCISE TEST - 12 [i»&583)
2 _Mark Questions 5X2=10

1. Solve : tan™1 ( ) + tan (x—“) =z,
X— xX+2 4

' (7)) = sinfeot™ (5))
2. Solve : cos (Sm (\/sz sinycot™ (7 )y.
3. Find the value of the expression in terms of x,

with the help of areference triangle.

tan (sin™* (x +2)).

. Prove that % <sinlx+2cos tx < 7”

. Evaluate sin [sin‘1 (—) LL G)]

5 Mark Questions 3 X5=15

. Prove that
1

1| x+ty+z—xyz ]

Z = tan .
1-xy—yz—zx

tan"lx +tan"ly + tan”

McosTtx+cosTty+cosTlz=mand 0 < x,y,z < 1,
then show that x? +y%+z% + 2xyz = 1.

. If a;, ay, as ... a, is an arithmetic progression with common
difference d, then prove that

tan [tcm‘1 ( )
1+a1a2
tan~1 ( d ) +...+tan"? (L)] = Zn”h1

1+ajas3 1+anan-1 1+aqa,
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